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SECTION-—-A
{Questlon Numberitoz2o —i1Markeach)l1x20=20]
[ Oucstion Number 1 1o 10;: Multiple Cheice Qucstions 1

. NumB=gfithmism8 soml]=?

(A)7f3 (B)7/4 (C)7/s (D)sf?
2 The stnng of a Ete 5 100 m long and it makes an angle of 600 with the hordaontal.

If there 15 po slack in the string, the helght of the kite from the ground is -
({AlsDvam {B)ioovgm [Clsov2m [D)1Dom

3.  Twu cuncentric circles are of radil 5 cm ond 3 cm. Find the leagth of the chond of a
larper circle which tooches the smaller circle 25 given in the below figune —

¢ 4=
i Satn P. -
A A B e
(A)Gem (B)gem (C)Bem [D)2em
4. Find the area of the shaded region, All the cireles shown in the below ligure are

rongmernt —
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{A)z5(0.52 - 1) mj. unils (18] 50 3 sy units

{C)wo(as5a —1) = units ( V) 300 (1= 1) m. units

The madins of the hase of a cone bs § em and lts height is 12 em. [s corved suface
ara is =

{A)boarm® (Blésaem{C)30acm* [ ) None of these

The algebiruic sum ol the deviations of a frequency distnbution rom s mean is =
(A)Zerm (B ) Always pesitive

{ C ) Alwnvs negatine { D} A non-remo nomber

The modiun of 5. 11, 12, 1, 18 and 29 5 14, If the olsemvations are in ascending
onler, then x =

(A)g (B)is (C)i55 (D)6

The enrve Tess than ogive” is always:

[ A) Ascemlding { B ) Deseending

{ C) Sometimes asceniding and sometimes descending { 1) None of these
What is the probahility of an impossible event?

(A)yfz (Blo (Chi { D ] None of these
Three coins are tvmsed simullaneously. What ks the probabillty of getting al most 2
heaily?

(A)afy (B)a/4 (C)s5/8 (D)7/8
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Q1 = Qu5:Fill in the Blanks:

1L
ix

13

tan 1" Lan 2" Lon 3° tan B8O e . eriranes
The numbier of Langents (hat can be drawn 1o a circle from a point inside the drcle

an

frirErrTTEEI T

The perimeter of 8 sector of o circe of radius 52 em, is 16,4 ce The area of The
Lo [ A

1. Wmean = qo, modian = Bo then mode will be o........... "
15  Wanevent cannol occur then its probabiliny b e
Qu6 = ao: Answer the following
16, A pole & m high casts a shudow 233 m long on the ground. At this instant, what
will be sun's elevation?

7. AB s a chonl ol the cirele aml AOC is its dismeter such that angle ACE = 50° [as
shawn n below figuare). I AT Is the tangent to the cirele at the point A, then what
will be the angle BAT?

C
d
4]
-—e
T A
1218

Ifa circle of radius 7 em is dividil into 10 equal parts, (hen what will be the aren of
cach seclin?
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9.

L B

How many lead halls, each of mdins © em, can b made from a sphere of mdius 8
rm?

The mean of 13 observations is B. One observatlon eqgual 1o 20 s dropped. What
will b thet new mean?

SECTION=H
ShoerLAnswer Type Questions = 1.2 Marks Each)

aL

Hian (A s B)owg, tanfA=B)e 1/ v3,0° <A« B ggo", A > B, then lnd A and
n
From g point P on the groond the angle of elevation of the top of 0 10 m il
builidinng {= 0%, A flag Is holsied at the top of the bullding and the angle of elevatlion
of the Ly of the flagstall from P s 45", Find the length of the Magstall and the
distance of bullling from polnt P, [Take v'9 = 1.732]

(R,
The angle of elevation of the top of a boilding from the foot of the lower {30 aml
the angle of elevatbon of the op of the tower from the foot of the bullding s 45% 1f
the trvwer is 30 m high, find the height of the balliling.
In the given Ngure, are are drawn by taking vertices A, B ond © of an equilnteral
triangle of side 10 cm, to nterseel the sides BC, CA and AB ol their respertive mid-
puints D, E and F. Find the area of the shuded reglon, (Use 1= 3.04)

e ——— ——y
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24.  Wthe intal surface arca of a salid hemisphere is 462 em”®, find its volume, (Take g =
22/7)
25. The data regarding marks oldainad bw 48 stindents of a class in a class test Is given
belivw, Calenlate the mmdal morks of students,
Marks L3 I |15 | 20= |25 0= | 35~ 4= | 45-
obtained |5 |10 |15 I 20 | 25 |30 | | o__|
Nomber of (8 |0 2 0 o 10 r i 2 1
'I\I.I_I_.I.Ll'_I!i | | I
(#].
Caloulate the masdian from the fillisving dlata:
Marks o-10 | ID=-20 2030 J0-40 40-50
olstainel . | |
Number of | 5 15 I 10 ] | 2
studenls 1

26, A hag contalns § mal, B green and 7 white balls, One ball is drawn at random (from
the hag, find the probahility of geiting:
{A) Nolawhite ball anid
{B) Neithera green nor a red ball.

SECTION-C
Sheorl Answer Type Questions - 11 {3 Marks Each)

7. Venhs

Sinif?
[ + Cosfl

I = Cinsl}

—
—

. Jor 01 = &F
I + Cosfl

|

2B, Exaluate:

[Subject: Mathemalics]



k|

e A1 un A e cov 2V cover A - fram MF Lo 4F fam JIFj

Vi

Jiviy A & agr 59

2q. The angles of depression of the top and bottom of a 50 m high huilding from the
top of a tower are 45" and 60" respectively. Find the height of the tower and the
borizontal distanee between the tovwer arul Lhe bailding, (Use vy = 1.73)

OR,

Two ships are approaching a light honse from opposite directions, The angle of
depresalon of two ships from top of the light bouse is 30" and 45 If the distance
between two shipn s 100 m, find the helght of light-honse,

40, In the given figure below, find the arca of the shaded region, (Use 1= 3.14)

T O —

Ea
5

=
21k

|
'8

OR,
Finul the area of the shaded reghon in the ghen figure, ifBC= 1D s 8cm. AT =
AD = 15 cm and O s the centre of the elrcle, [Take 1= 3.14)
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I,

A eubical bliwk of side 10 cm is surmounted by a hemisphere, What s the largest
dizameter Lthat the hemasphore can have? Find the eost of pasting the lota] surfoce
area of the solid so formed, al The rale of R, 5 per 100 s em. [(Use 2 = 3.34)

A cune of mavimum size is corved out from a cube edge 14 em. Find the surfare
arra of remaining solid after the cone Wocuroed ont,

The mean of the following distnibotion is 48 and sum of the fregquencies is 50, Find
the missing frequencies  ani v,

Class 20-30 | J0-40 | 4050 ‘55- | bO-TD ‘

Froquency | H b X T 1Y |
DR,
Find the mean and masdian for the follinving data:

Class | nu-luj 1020 | 2030 | Jo=g0 | _5-:: |

Frosporney | K 16 3 KT
A hag contains cands numbered 1 1o 49, Fimd pmhnhllltr l}ul the number on

the drawn cand 1
(A) anodid pumber () a multipleaf 5{ C) Even pnime

aECTION =D
Long Answer Type Questions Li Marks Each)

Pronve that:
tiarnf) cor?
+
! = coifl ! = tant?
OR,

= 1 + ranfl + comf

il
— el of > 0L funad the vale of codl aud fani),
|I - j-
L R
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6.

1H.

40,

The angle of elevation of the top B of & twer AB from a point X on the ground is
60°, At a point Y, 40 m vertically alwne X, the angle of clevation of the top s 45%
Finil the hetght of the tivmer Al and the distance XB.
OR,

At a point A, 20 m above the level of water in a lake, the angle of clevation of a
el ix 30, The angle of depreaxm of the reflection of the doud in the lake, at A
is &0*. Find the distance of the chmid from AT

In the figure ghven boebaw, ABC is a right-angled triangle, angle B=00", AB =28 m
and BC = 21 em. With AC as diameler, a semi-circle is drawn. Find the arca of the

A fght cireular cone is dividid into theee pans trisecting its height by two planes
lrawn parallel tir the base. Show thal voliomes of the theee portlons starting from
the Lo are in Lhe mtlon 1:7: g,

The fallwing tabile glvis the caily income of 50 workers of a fuctory.

Daily income (in K&) | 100- I20=140 | 1{0=160 | 160=-180 | 180-200
120
Number of workers |12 4 .| 6 10 |

A box contalns cards bearing aumbers from 6 o 7o, I one cand Is drawn at
random from the bax, find the probability that it beans.

(A} Aanedigil mmmber

(B) Anumberdivisibile by 5
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{C) Anodd number less than g0,
(D) Acmmposite nnmber betwern 50 aml 7o,
DR,
From a deck of 52 plaving cands, Jocks and kings of ned colour and Queen and Aces
ol hilark colour are remanviedl The remalning cands are mived ancd a cand ks drown at
ranclom, Find the probahility that the dmwn eond s -
(A] Ablick Qieen
(1) Acon!of red olour
(C) Adack of clivek eodour
(D) Aface cond



